= o O
N & o & AF &2 H Ml A
201E S Z20a LEESIH AL M0 ~ ALSI XIS Dt
SN AEHS D
Hu: JRTE 243
ool MEXE s4 X (crol M
_ - P
SN S(H) - MEAY - BES Off &+ o4 0l At o HDZ2
NS E=n 7,719,004 6,283,665 1,435,339
= 312,722
| 676,659
& 473,895
Al 6,255,728
H=ds 243 5,020,828 3,649,975 1,370,853
| 312,997
& 265,744
Al 4,442,087
HsdgE 54 N 3,166,402 1,947,044 1,219,358
= 73,890
Al 3,092,512
HEXE|S 2 2N 12,000 12,000 0
203 R4l 2,000 2,000 0
03 AT EAY| 2,000 2,000 0
OAS MSHA 22 & B9 2,000
301 YptBaag 10,000 10,000 0
10 EALAHIE A= 10,000 10,000 0
OXN=YAMXNERAAS 2  1,000,000&*102] 10,000
A2 ¢ MEHE dPXNEX 2 720,621 679,058 41,563
301 Yptsaag 720,621 679,058 41,563
1 Hst - 2SRSELS 720,621 679,058 41,563
o=2d(AE2sd0I8) 304,236
o= 2,031,0002+3% 128 73,116
@2, &= 1,605,000 x 12« 123 231,120
OHNHB(HE2SEIIR) 304,236,000%%4/12 101,412
OEUFY(NHYLSSHIIR)
200,0008 152 « 122 36,000
OZAHI(HE2SZII2) 250,000& 3122 9,000
ONSH(HBSSHIIR)
100,000% * 152 » 122 18,000
oOL=+Y(HNFLSHIR)
200,000& x3H +12& 7,200
oM (HE2SHII2)
100,000& «15H »12& 18,000
OBAFY (DX, N4/HNFSSHIR)
300,000& *203] 6,000
OEUEE(NIYLSSZIR)
300,00021 *152 x23] 9,000
Om=H (RE2SHIIR) 10,800
0=2==, =53 250,000& 15 »23] 7,500
0=, Iiot 220,000& 15 3,300
OUsIEXH (HE2SHIIR)
60,0003 158 6 »43] 21,600
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S AREHIS D
g NFHE 2435
ool MSAE |4 N e
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
OFEXNEBEH (HE2SEIR)
60,000 x 15 15 13,500
ORAIBH(NZ2SZIIR)
2,000,000 =3 6,000
OEIFZ(HNE2SZIR) 6,000, 000& x7H 42,000
OMEMZHML XXt 57,444
QX2 A 1,324,000& »3E 123 47,664
(_ES=PNISUNES =, 120,000 x1H + 122 1,440
@ SH| 100, 000& 3H 12 3,600
QX3 1,580,000& x3H 4,740
ONEEEZRES 568,488,000 *18/1,000 10,233
OfS === 568,488,000 *4.5% 25,582
OMIMEERES 568,488,000 x10/1,000 5,685
OHLEERES 568,488,000 *3.2% 18,192
OFIIRABEZ 18,192,000& *4.05% 737
AFE2SEIIR 223 46,000 45,000 1,000
= 46,000
301 LptEasg 46,000 45,000 1,000
& 46,000
11 st - 2SRSELS 46,000 45,000 1,000
OXNHE2SEIIR 23 46,000
L= 46,000
HNY2SsIIRd g=sa 29 & FH X 239,400 164,400 75,000
201 Yer2 YY) 164,400 164,400 0
01 AtE22/Hl 134,400 134,400 0
odx= 39,600
o =L 1,100,000& » 12& *304 & 39,600
O=&l 540,000& 12E «10& 64,800
O©ztAld| 120,000 15 «10& 18,000
O==dl 80,000& 15 102 12,000
02 =234l 30,000 30,000 0
o0z32= & HAl 10,000
OA&EZEHIS X 20,000
405 AHoHESHI 75,000 0 75,000
01 MHARESFSH 75,000 0 75,000
OAMOIZ ¥ 15,000,000 *3CH 45,000
oxg + 30,000,000 = 1CH 30,000
d=AMEE 29 AR 285,750 191,971 93,779
gI2tol ™ 285,750 191,971 93,779
Q3 aE s 285,750 191,971 93,779
O&FAM=2 2E XE 285,750
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M AL
|

HH: MFE

el M= A& (el =@
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
HEANdEH=2 2 X 199,631 183,615 16,016
307 2120l & 199,631 183,615 16,016
02 2ItBAE X 199,631 183,615 16,016
OXFANLEN=2 2SN 199,631
HHUBI= AlBI2S 20,000 24,000 A4,000
307 2120l & 20,000 24,000 24,000
02 Qlta3aE X 20,000 24,000 A4,000
O0BIUBI = Al2l2S 20,000
MENSKNEXZ 13,200 7,200 6,000
307 QI2+0ld 13,200 7,200 6,000
02 QItFAE X 13,200 7,200 6,000
OdMEH= NEX ==& 100,000 *11E«123 13,200
H==AIRH SR 180,000 180,000 0
307 2120l A 180,000 180,000 0
04 BIZHHAIE £ 180,000 180,000 0
O&=AZXH=UZ 180,000
det=2e SoX=EUE N 1,100,000 0 1,100,000
307 2120l & 1,100,000 0 1,100,000
04 DIZHHALE X 1,100,000 0 1,100,000
ORM48s Met=2& TeXN=sMs JHE 1,100,000
CoM=sUaEd 100,000 130,000 230,000
307 2120l & 100,000 130,000 230,000
04 QIZtHALE X 100,000 130,000 230,000
OHM48sl =LIM=e &H 100,000
CoOMENSHEA 80,000 80,000 0
307 Q12+0l & 80,000 80,000 0
04 QIZtHALE X 80,000 80,000 0
ORM225 =RIHEN=US &2d 80,000
EN2 F2cld 2g 130,000 150,000 A 20,000
307 2120l A 130,000 150,000 220,000
02 It A Ex 130,000 0 130,000
O&H2 =Zcl1 2¢ 130,000
44 520a X 39,800 39,800 0
< 27,890
Al 11,910
307 2120l & 39,800 39,800 0
= 27,890
Al 11,910
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SN AEHS D
o HSHES 2o5
o9 MEXE S4 X (25l &2
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 B bRz
Off &F OH
02 Sl2tYA X 39,800 39,800 0
0g4+E =204 X 39,800
0= =204 29
700,000% 128 *2JH & 16,800
= 4,890
Al 11,910
L EPNERE i) 17,000,0002 18l 17,000
= 17,000
@s4l =DM NEK +g
500, 0002 * 123l 6,000
= 6,000
MEHs 22 X8 602,000 591,500 0,500
HM2OHERA X 180,000 180,000 0
307 QI2H0IH 180,000 180,000 0
04 DIISHAIEE 180,000 180,000 0
CLEIEES L] 180,000
@405 SSHMSBYLZ 2| HISMAO
203 70,000
@55 HIASMAHALLANS L S50
CH 3l 40,000
@%I305] IS M2+l 70,000
MEs AFIIUE X 166,000 151,000 15,000
307 2201 H 166,000 151,000 15,000
04 DIFSAEE 166,000 151,000 15,000
OHS3 AFI| HalX & 166,000
®KIss HEAII HISHE 20,000
OK 113 BEAF HREIHE =03 20,000
@135 MFAIRI| 2L - 0f 204 30,000
®Ji6sl XF MRS 15,000
@183 HIENY U S50 S5 10,000
®%i75 HFAIRI +0HS 6,000
@195 MFAIRI| ER0H3| 7,000
@95 HFEAIRI| SRS 4,000
@145 MFAIRI| EHAHS 4,000
@183 HEAXI| 2203 4,000
@%I95] HFAIZI| LA 4,000
@153 HEAXI| S0 4,000
®%i 153 HEAFI| MRESSAD 203 4,000
@155 MFAIZI| HIHE BIRHS 15,000
@185 MFAIZI| HILIAHS 4,000
@Ki8sl HEAIZI - 0 2 4,000
@143 HEAFI| BHERIE T3] 7,000
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SH: ASTIS D
H: MSXE o

=2 o
e M=tz 29

| (el a2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
QN33 HMFAEI 2=t =& 02U
3| 4,000
MEX= AMEINUSE XA 187,000 191,000 4,000
307 QIz2tol A 187,000 191,000 A4 ,000
04 DIZHHAIE X 187,000 191,000 24,000
OMEH= A& X 187,000
QX33 MFAIEH MEXNSE H=F0EHO]
sl 10,000
@H43 HMFAIED| MEMs 2OLEUHS 10,000
@M 158 H=2 RelJte MEHX HAAUS 16,000
@82 MFTAITH MEM=s dICHSSEH
g =73 13,000
@HB83 HMFTAIEI| MEHs d=2xE F5F
sl 13,000
ON73 HFAIED| MEMNS AIJIUE 20,000
ONI73 HFAIFU MEBHS BRAN OIS
3| 12,000
@ K243 NAH MEMS A=W 7,000
@4 133 MFAIEH MEM=E =L 2UF 7,000
@4103 MFAIEH MEMs A==
3| 7,000
Q@H73 HFAIHI| MEM=E BSEHAZUS 7,000
@ K93 MFTAIEH MEis d=2YU=2U3I 4,000
QX103 dx M= 282 L JIF HA0IeHE
sl 4,000
QN7 HMFTAIEH MEMs d=sZUEYE)|
sl 4,000
@4 123 MFAIED| MEH=E Ma8AUS 4,000
@H73 HMTAIEH MEXNE MSZLAHSOIY
H3 4,000
QN 213 MFAIED| MESI= HELUEH U 7,000
@4 133 MFAIED| MEM=E =F7UHS 4,000
@K 103 HMFAIEI (A L RREAIS Me
H=E HOIE=U S 1,000
Q@ N43 HFAIED| MEXN=ES 2ZUS 10,000
O N53 HFAIED MEMES ARAAUS 15,000
@H63 HMFTAIEI MEM=F Ol=HLIAUS 4,000
Q@ N23 HMFAIEH MEXNST USHAIUS 4,000
HMEsUsEsd & 43 & 54,000 54,500 A500
307 QI2to| A 54,000 54,500 A500
02 0I2ZtEAMNE X 54,000 0 54,000
OM=la & ¥ 45 XA 54,000
QOXH=HNE S U3 &&H 10,000
@ N233 M=AXNOIUAEUS =X 5,000
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SH ABIHS D
H: MSXE o

=2 o
e M=tz 29

|2 (ctel: &
S BB SR (B) - NEAY - BAS 0f & o Soe DB
Q2011 LS NEE Al 2l &=d 2,000
Q2011 S MEZ T HdeU3 &d 3,000
HEHE N A 10,000
QUEN = A= 25 ¥ 24 8,000
=T+ FF2NA 29 7,000
QK132 & - & MSXNA N2 A 4,500
ONZMEHE NEXN 253 4,500
ZOoHe! M=Cal X 15,000 15,000 0
301 LeEt2a=s 10,000 10,000 0
12 JIet24 =3 10,000 10,000 0
O&= 0 M=z =& 100,000&*100 10,000
307 QI2t0ld 5,000 5,000 0
04 QIZFHAIE X 5,000 5,000 0
OFM HM=T= 5,000
HENSs 243 N2 1,252,426 1,071,431 180,995
7 312,997
s 191,854
Al 747,575
& EMs2 dd X 100,000 0 100,000
308 AXIEHSOIA 100,000 0 100,000
06 WEIIANUSEEXS 100,000 0 100,000
oHi&EMs2 28 X 100,000
MEHSLA 2 189,500 189,500 0
S 56,850
Al 132,650
307 2120l & 189,500 189,500 0
S 56,850
Al 132,650
02 2I2FEX 189,500 189,500 0
(OF 3= 5 E NSRS 189,500
= 56,850
Al 132,650
MEHE XX X 167,424 167,424 0
Il 83,712
Al 83,712
307 2120l & 167,424 167,424 0
Jl 83,712
Al 83,712
02 2IFEx 167,424 167,424 0
OMENM= XNSXt X 20,928,000 «8H 167,424
) 83,712
Al 83,712
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A A= 0

Ha: HSNE 248
el MEXS 285 X2 (B9 &2
_ _ rSIEL== =
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ

oz HSES XA 62,784 62,784 0
p 31,392
Al 31,392

307 212H0I 62,784 62,784 0
p 31,392
Al 31,392

02 PABABE 62,784 62,784 0
0024 HSES X 62,784
| 31,392
Al 31,392

MBS S50 x| 24 115,814 97,203 18,611
= 34,744
Al 81,070

307 212H0I 115,814 97,203 18,611
= 34,744
Al 81,070

02 PABABE 115,814 97,203 18,611
oMEIE S50 =] 29 115,814
= 34,744
Al 81,070

MEHS BINE 29 334,200 334,200 0
= 100,260
Al 233,940

307 212H0I 334,200 334,200 0
= 100,260
Al 233,940

02 QIAAAEE 334,200 334,200 0
OMBISE BIIE 2 334,200
= 100, 260
Al 233,940

ATXHIH AlAL 282,704 136,320 146,384
| 197,893
Al 84,811

301 YErEAa 282,704 136,320 146,384
| 197,893
Al 84,811

01 ABIBEE 453 282,704 136,320 146,384
OAZEHI2H AlZAY 282,704
| 197,893
Al 84,811

Had H5 R4 2,596,868 2,505,204 91,664
= 312,722
| 363,662
= 208,151
Al 1,712,333

HAE 258 AL 137,000 142,000 A5,000
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A AR S

Hu: HAH 25 |4
SEHEPNERCT RN (649l &2
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Off &F oK '@,‘;OH Hlw &2
HAH 252 N 25,000 30,000 5,000
307 12+0IH 25,000 30,000 A5,000
02 PIABNBE 25,000 0 25,000
0L 238S N 2,500,000 +103] 25,000
Hyol ¢ X2 12,000 12,000 0
307 12+0IH 12,000 12,000 0
02 SIHH AT X 12,000 0 12,000
oduel g X 12,000
®=AIEH B-B0Y 2043 100,000 100,000 0
307 12+0I 100,000 100,000 0
04 BIFBAIBE 100,000 100,000 0
OHZAIZHN B-BOY H2CH3 100,000
=PNENC] L 753,284 732,720 20,564
=2 312,722
p 1,500
= 121,580
Al 317,482
HAE 252 29 N 5,240 0 5,240
201 Y2yl 5,240 0 5,240
01 AFR22lH| 5,240 0 5,240
oYLt 5,240
@i T =22 N
10,0002 1004 x33] 3,000
0 LUZ %3 X 3,2009 %700 2,240
HAUES SEBSH XY 9,600 16,000 6,400
= 4,800
Al 4,800
202 01l 9,600 16,000 6,400
= 4,800
Al 4,800
01 2UoiH| 9,600 16,000 6,400
OFAUES S&ESY N 9,600
= 4,800
Al 4,800
HAE MGHE 2N 105,000 105,000 0
= 20,000
Al 85,000
307 12+0I 105,000 105,000 0
= 20,000
Al 85,000
02 SI2BAEE 105,000 105,000 0
OFAUMGHE 2HXH 105,000

_59_




A AR S

Hn: HAd @5 54
°Helr Al Bsae] CEREED
I:I}\_I X XH l:|-o|(=|]:”) }\.”:lM,o-i HASX2 Al OH In_-“‘j_'n:_ =2}
. = i o ) ° . [= Bl e =5 0:”/.:"% ==

& 20,000
Al 85,000

Fad dis 2K 611,844 557,720 54,124
= 305,922
& 91,780
Al 214,142

307 QI2t01A 611,844 557,720 54,124
= 305,922
& 91,780
Al 214,142

02 QI2ZtABAE X 611,844 557,720 54,124
oxAYE gt: 2K 611,844
= 305,922
& 91,780
Al 214,142

NEdAE FHRRe 29 3,000 3,000 0
| 1,500
Al 1,500

307 QI2t01A 3,000 3,000 0
| 1,500
Al 1,500

02 I2tAAMEX 3,000 3,000 0
oNEEAE FHAAS 2 3,000
J| 1,500
Al 1,500

HAE NIEM I BENS 5,000 5,000 0
& 5,000

307 QI2t01™ 5,000 5,000 0
& 5,000

02 QI2+AAMEX 5,000 5,000 0
OHAH REM U 2N 5,000
= 5,000

FA4E KoL AH 2SR 13,600 18,000 24,400
= 6,800
Al 6,800

307 212t01& 13,600 18,000 24,400
= 6,800
Al 6,800

02 SI2tZASE X 13,600 18,000 A4,400
OFEAE RSB ZAH 2 13,600
= 6,800
Al 6,800

FAEANE 2N 724,324 648,224 76,100
| 362, 162
& 86,571
Al 275,591
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SN
X XH .
S Tt

ok

NERIEN
AW 25 4

SMN-HHM .. AHA(SH) - MRAY - BES A} OH MEE =
. = Tl (2 ° . = =5 0:”/‘l|_% ==
S3EFAYE A4 41,422 58,000 A 16,578
J| 20,711
Al 20,711
307 212t01& 41,422 58,000 AN 16,578
J| 20,711
Al 20,711
02 QI2tFAEX 41,422 58,000 AN 16,578
OSSEHFALESTHALE E d 2INA 41,422
| 20,711
Al 20,711
LA BAE NS BIXIXIRA 95,760 95,040 720
Il 47,880
Al 47,880
307 212t01& 95,760 95,040 720
J| 47,880
Al 47,880
02 QItFAE X 95,760 95,040 720
OFAEE A4 NS BHXIXIJ 95,760
p] 47,880
Al 47,880
FAESEAE 2SR 29 10,000 10,000 0
| 5,000
Al 5,000
307 212t01& 10,000 10,000 0
J| 5,000
Al 5,000
02 QItABAE X 10,000 10,000 0
OB AHAE Al
2,000, 0002 *5J4 2 10,000
| 5,000
Al 5,000
dad d2sidH 29 X 117,000 109,000 8,000
J| 58,500
= 17,550
Al 40,950
307 212t01& 117,000 109,000 8,000
Il 58,500
& 17,550
Al 40,950
02 ItAASE X 117,000 109,000 8,000
O&FEAHE H23HH 22 XA 117,000
| 58,500
& 17,550
Al 40,950
HIE3AYE HH2Z 345,460 278,300 67,160
| 172,730

_61_




SH: AEHS D
M HAW 85 R4
ool HAUAY 28X (e @8

T

L RE-E

SRS - HRAY - B2

[
2

20
B
2

S 51,819
Al 120,911
307 2120l & 345,460 278,300 67,160
p) 172,730
S 51,819
Al 120,911
02 It aEx 345,460 278,300 67,160
Ot Ead &H 2 172,730,000 x2J4 £ 345,460
p) 172,730
< 51,819
Al 120,911
S| FAEEH 29 114,682 97,884 16,798
p) 57,341
< 17,202
Al 40,139
307 2120l A 114,682 97,884 16,798
p) 57,341
= 17,202
Al 40,139
02 QI3 aEx 114,682 97,884 16,798
OsdI 3addH 2
114,682,000 * 14 £ 114,682
p) 57,341
= 17,202
Al 40,139
BAEAE 22ARAE 982,260 982,260 0
SHEALAEEHZ 2 202,000 202,000 0
307 2120l & 202,000 202,000 0
05 BIZtRAE = 202,000 202,000 0
Ol EadE =32 202,000
AP AEHZSOE 2E 172,260 172,260 0
307 QI12+0l & 172,260 172,260 0
05 QIZtRE = 172,260 172,260 0
o2 FAE 2319 172,260
d=EAER239E 29 145,000 145,000 0
307 2iz2tol A 145,000 145,000 0
05 BIZtRE S 145,000 145,000 0
OX=x EAE 239 145,000
SAHEAEREOAY 29 93,000 93,000 0
307 2120l & 93,000 93,000 0
05 2IIRAE S 93,000 93,000 0
O=H& FAHd 235t9 93,000
sAHELE2AY 29 145,000 145,000 0
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